GSSSB Food Safety Officer (Advt. No. 121/2016-17) Question Paper (04-03-2018)

: Series: C
001. In oil refining, oil is
“ (A) l){:-odurizud (B) Bleached
(C) Both (A) and (B) (D) None of the mentioned
002. <A svoudd woeedl (aoe-unsydl) =aldl.
Ay’
(A) Rz (B) uzleu s2d
(C) MHa =ug (D) MHOL 53I2
003. Storage requirements and stability, product attributes conductive to product
sale etc. The above activities refer to which step of the food industry?
(A) Production (B) Manufacture
(C) Distribution (D) Marketing
004. Use proper conjunction:
He is rich, ..........difoe miserable
(A) and (B) stille
(C) yet (D) so
005. Which of the following is differential medium?
(A) Nutrient agar (B) SS agar
(C) Blood agar (D) B and C
006. The first transgenic plant to be produced
(A) Rice (B) Maize
(C) Cotton (D) Tobacco
007. ®Risll ASUALA i@l HIEL Rl AlYARHL ed-tlAR wid 208-[s242
W@l Hes SHRA wed »der sl 2udl. B wwad dudl ad
AL 2UAL QUM GulRAd edl?
(A) [z (B) #5314
(C) dl4 (D) #ldst
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008.

009.

010.

011.

012.

013.

014.

Fruits contain fructose which is a primary carbohydrate. These increase
the blood sugar level. Why are fruits still recommended to be eaten?
(A) They have exceptionally low Glycemic Index

(B) They have exceptionally high Glycemic Index

(C) They’re secondary carbohydrates

(D) None of the mentioned

wgalaslload oituzgr srgul.
(A) HUYHAAI (B) Hyudddlll
(C) H¥udAs2U (D) HAAAHY3UL

Freezing point depression is
(A) Electrical property (B) Optical property
(C) Thermal property (D) Textural property

GFP protein was originally isolated from
(A) Arabidopsis thaliana (B) Aequoria victoria
(C) C elegans (D) Dropsophila melanogaster

el 2 dddl Halzil e 2l vicdd 1Al edl g4 [Aadl
fiiiedl onusdl Aodl dwdl s el gadl cudl sul?

(A) 1908 (B) 1917
(C) 1921 (D) 1912

The insulating materials have:
(A) High thermal conductivity (B) Low thermal conductivity

(C) Zero thermal conductivity (D) Negative thermal conductivity

ARl sAsell sl
(A) Nlalud (B) Wlaidu
(C) dirardd _ (D) WAy



015.

The process to increase in volume caused by whipping air into the ice
cream mix during freezing is called
(A) Homogenization (B) Aging

(C) Overrun (D) Hardening

016. The wavelength of UV light is:
(A) 200-400 nm (B) 700-900 nm
(C) 800-1100 nm (D) 200-800 nm
017. ARl A ubadlél oiga1®, 2y vionw v waLza Hewstolld
ldud sl s 97
(A) ®5ct oligial (B) s34l €lEL
(C) 94 Rl (D) 2Pueus
018. Stripping solvent off a meal is called ...
(A) Toasting (B) Buttering
(C) Jamming ' (D) Milling
019. 100 W (Ql2) «t 10 cicoid 1 sas A4 AVl ............ Y2 Glod
AY=Iy.
(A) 4 ylq2 (B) 10 yf«2
(C©) 1 yl«2 (D) 60 yl«2
020. Which chemical preservative is added to tomato sauce to extend the
shelf life?
(A) Sodium benzoate (B) Nacl
(C) Calcium propionate (D) None of the above
021. The degradative processes are categorized under heading of
(A) Anabolism (B) Catabolism
(C) Metabolism (D) None of the above
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022, lA 2N qQuudl WRsdl Wl [@seuw aldl,
wollal A1s 51w
(A) ol s sy (B) Hwilld 218 sudl
(©) Wwoll wa s swey (D) Wildl A5 sl

023. Simplest form of carbohydrate is
(A) Carbon (B) Starch
(C) Monosaccharides (D) Cane sugar

024. Fill in the blank.

He, as well as his friends, .............. to my place everyday.
(A) are coming (B) comes
(C) come (D) were coming

025. Which of the following produces heterocysts?
(A) Dunaliella : (B) Anabaena
(C) Rhodospirillum (D) Halobacterium

026. Which of the following has largest particle size in milk?
(A) Lactose (B) Casein micellies

(C) Fat globule (D) Fructose

027. 1A saldd odssi wica dAd oAsl

@) oy« 2UER] WEA AN - oyl (D]orstz [oreal

D] vua sl RRS Hedid r=UA - dqon ()| euadr [oreal

©| ot syl @ wedl disarst quad|G)[ s [oreal

YA - HHAYR
@) ovarin oltwd R s - dRWR @) [ ulkoigr [oreal
(A) a-3, d-2, b4, c-1 (B) d-1, b-2, c-3, a4
(C) b-2, c-1, a-3, d-4 (D) c-4, a-3, d-1, b-2

FSO-C| [5] [ PT.O.



028.

The most common carbohydrate monomer is

(A) Maltose (B) Lactose
(C) Glucose (D) Galactose
029. MRt sfQ yyeeruu wrindd orua oygudl,
(A) Gl (B) Hirefl
(C) 2Alsd (D) AIRIR™M
030. What is the average boiling point of milk?
(A) 100-101 °C (B) 105-110 °C
(C) 115-117 °C (D) 102-105 °C
031. Which vitamin is the example of sugar acids
(A) Vit A (B) Vit C
(C) Vit D (D) Vit E
032. oidl ucwsllra 8 87
(A) PREMEIR 22514A U2, Hh”uA
(B) ARl 212519 a4l ulw
(C) ovoy uuA AR 9y U s1d
(D) <% uuA AARA ussald sid
033. Which among the following is not a cereal?
(A) Rice (B) Wheat
(C) Gram (D) Maize
034. 20RAd UBR &Rl AIDA AorRud A 24 sldey R <l 2017-18
veqd AR WAL 22 i uan [Qovan 2i@/sldordl Aua o4
WAL AsS PSR viudldl omdud i 2udl 97
(A) 31. 3,00,000/- (B) 31. 5,00,000/-
(C) 31. 4,50,000/- (D) 31. 3,50,000/-
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035. Peptidoglycan is absent in
(A) Bacillus megaterium (B) Mycoplasma
(C) Sulfolobus (D) B and C

036. Which provides energy very slowly?

(A) Carbohydrates (B) Fats
(C) Proteins (D) Fibers
037. Rl sl
ulafda
(A) dld + Raad (B) ula + Rad
(©) ula + R (D) ula + 2iRAq

038. Oil Refining is a step
(A) After oil extraction
(B) Before oil extraction
(C) Between oil cooking and flaking in Pre-Press solvent extraction
(D) None of the mentioned

039. What are you Crying .............. ? (put proper preposition)
(A) for (B) in
(C) of (D) with

040. Whey is the by-product in the manufacture of
(A) Skimmed milk (B) Butter
(C) Cheese (D) Yogurt

041. The first crop plant genome sequenced
(A) Maize ; (B) Wheat
(C) Rice (D) Barley

042. ViErYA Sl gRI QUR KRAML 21d 97
(A) QU vigq (B) Al 4
(C) <Rl Ut (D) viglovys vl



043. The exchange of material takes place

(A) Only by diffusion (B) Only by active transport
(C) Only by pinocytosis (D) All of the above

044. acesly uGl wRll su saladl [sey sl

(A) dote, Alpudl, w2, Al (B) afiwz, a2, abeadl, wotH
©) w2, aler, o, abudl (D) abrdl, o, AR, 42

045. Which of the following is nitrogen fixing organism?
(A) Azospirillum (B) E.coli
(C) Bacillus sp. (D) Methanobacterium

046. Yogurt contains mixed lactic acid culture containing
(A) Lactobacillus bulgaricus and Streptococcus thermophilus
(B) Lactobacillus bulgaricus and Propionibacterium

(C) Lactobacillus bulgaricus and Leuconostoc
(D) None of the above

047. MS Word di 5595 2lése sldl Guula 5304 sidlaide<dl dikil © Gidl s

S7?
(A) Ctrl +Shift+C (B) Ctrl+Alt+C
(C) Shift +Alt+C (D) Ctrl +Tab+C

048. Which of the following is untrue?
(A) A gram of carbohydrate or protein contains 4 calories
(B) A gram of fat contains 9 calories
(C) A gram of fat contains 5 calories
(D) None of the mentioned

049. DEPRESSION ogdl udcll i oflod 28R ed oigd i 241,
2§l d or Ad Al 2 Al wER, aw W A 95 2R, x4
vioy dd 95 Yl vied oigd A Al A4 AokAl A Al i
JaeRl gl olisdl. ¢d il uceui ol Al iR i) 6@l ?

(A) R (B) O
©) S (D) 1
FSO-C| [8] [ Contd...



050. Who announced the introduction of National Food Security Act?

051.

0s2.

033.

056.

057.

(A) Pranab Mukherjee
(C) P. Chidambaram

(B) Manmohan Singh
(D) Arun Jaitley

At which stage does adulteration take place in?

(A) Producer
(C) Retailer

A 284 dquel woed e 3y

ylaur
(A) uladl ur
(C) Ydar

Who discovered PCR?
(A) Kary Mullis
(C) Stanley Cohen

Give synonym of ‘Poison’.

(A) Elixir
(C) Bitter

Soft fats in milk fat are
(A) Lauric and Stearic

(C) Oleic and Butyric

lodine value measures

(A) Degree of unsaturation
(C) Amount of carbon present

(B) Distributor
(D) All of the mentioned

[aseunidfl wldl.
(B) Ueell

(D) [

(B) Arthur Kornberg
(D) E. Sanger

(B) Venom
(D) Fatal

" (B) Capric and Lauric

(D) Oleic and Lauric

(B) Degree of saturation
(D) Number of iodine present

qef qifes Ay 3 R Gorqaril w87

(A) 3 HRl
(C) 23 [k

(B) 12 oneyiidl
(D) 5 %



058. Which of the following is an adulterant?
(A) Urea (B) Pesticides
(C) Iron filings in tea (D) All of the mentioned

059. <A et uddle : uoedeniefl WAl [sey @)
(A) was - 2104 (B) wad - R
(C) GueRr - Zlwwl (D) GUER - VICYIER

060. Which among the following does not belong to welfare schemes for
the farmers?

(A) Kisan Credit Card Scheme

(B) SHG Bank Linkage Programme

(C) National Agriculture Insurance Scheme
(D) Employee Referral Scheme

061. What are Sequestrants?
(A) They are added to keep the food stable

(B) Form a complex ion with metals like copper, iron etc
(C) Added for color

(D) They keep the food oxidized

062. 124l Foauidl 1977 i ol wRen visiell a2t wspidl oy s

&l?

(A) 2ign Ssudl (B) [Aya sewell

(C) uzed il (D) Rovellsird o, udau
063. Who discovered Conjugation?

(A) S. Luria (B) Bolivar and Rodriguez

(C) F. Griffith (D) J. Lederberg

064. 10" > 8 Al Wl ARSI Hiua@d 2' Al dous SRacl Qesoef] 2l
alell @uaa w2 kol aildl o Wd?
(A) 80 (B) 40
(C) 20 (D) 50
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065.

067.

069.

070.

071.

Destruction of which enzyme is used as an index of super-HTST
pasteurization?

(A) Catalase (B) Lipase

(C) Lactoperoxidase (D) All of the above

seseecmeee. help in maintaining / controlling the acidic / alkaline changes
during food processing and hence maintain flavor and stability.
(A) Buffering agents (B) Sequestrants
(C) Anti-caking agents (D) Anti-foaming agents

Rss@ ABis Hddiedl 2UHARAIS Al Ul

(A) €Rr (B) Al uleAl
(C) dlurma (D) an-l [qae

Hydrolysis of triglycerides with alkali is called
(A) Titration (B) Hydrogenation
(C) Saponification (D) Rancidity

Give antonym of ‘Clergy’.
(A) Unclergy (B) Inclergy
(C) Declergy (D) Laity

State true or false:
Statement 1 : Preservatives are food additives.

Statement 2 : Sweeteners consist of calorie, low-calorie and non-
calorie sweeteners.

(A) True, False (B) True, True

(C) False, False (D) False, True

Silencing of mRNA has been used in producing transgenic plants resistant
to

(A) Bollworms (B) Bacterial blights

(C) White rusts (D) Nematodes



072. il 3Rl 34 w2isel 80% 21 sed you worcad ddlove 4 97
(A) 54RIBS 21U (B) uemR wliued
(C) s4ARAA s10lw (D) Hxlaun A
073. Which of the following is used in gaseous sterilization?
(A) Betapropiolactone (B) Ethylene oxide
(C) A and B (D) Hydrogen peroxide
074. wosuye R Vs wordl uRl [sey wuie s9l
IR U gy W -
(A) [l (B) A
(C) 216 (D) »nula
075. Which among these is a factor for processed food in India?
(A) Changing lifestyles (B) Food habits
(C) Organized food retail (D) All of the mentioned
076. When there is aconsiderable degree of unsaturation, the fat will be liquid
at room temperature, it is called.
(A) Lipid (B) Oil
(C) Hydrogenated fat (D) Free fatty acid
Lot
077. 04 2usli OQ il 5’: ;
2 A"
TR _ab
o) a8
ly .
k ;3 3
< P 24 Q S
(A) 50 (B) 25 &
<) 8 (D) 22
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078. The ability of the cell membrane to act as a selective barrier depends

upon
(A) The lipid composition of the membrane
(B) The pores which allows small molecules
(C) The special mediated transport systems

(D) All of the above

Jast <l s 219d ula @aau ol s frecmi »udg 97

(B) “34
(D) 2acyfn qlesl

079.
(A) UReigR
(C) oil2le

080. Most variable constituent of milk is
(A) Proteins (B) Fat
(C) Lactose (D) Minerals

What is Glycemic Index of carbohydrates?

081.
(A) It shows which other nutrient it is being ingested with
(B) It shows how quickly a carbohydrate is digested
(C) It shows how quickly a carbohydrate increases blood sugar level
(D) None of the mentioned
082. 2oRId RUsedel AiEdlPR [oreard sl Brecuedl g 2udddl «ll?
(A) HleurRr (B) AloRsi8L
(C) vist (D) wRacdl
083. From the biological viewpoint, solution can be grouped into

(B) Hypotonic solutions

(A) Isotonic solution
(D) All of the above

(C) Hypertonic solution

084. {lA-wmiell 56 A4l Agedl Hid oA HAdl «¥l?
(A) uddl (B) vl
(C) uwe Heuel (D) Gullsa Al 2Asugt «&l
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08s5.

086.

087.

088.

089.

090.

091.

Which of the following is present in MacConkey’s agar?

(A) Eosin Yellow (B) Sucrose
(C) Neutral red (D) All of the above

Which of the following is untrue about Essential Fatty Acids?
(A) EFAs are also called Vitamin F
(B) EFAs can be synthesized by the body

(C) EFAs cannot be synthesized by the body
(D) Omega-3 and Omega-6 are the two families of EFAs

dd vlg quuuidl viba Gulfaduged usik ovgudl.

gidl ar, Su o4 2wl

(A) ™NAQUUS (B) £MAUS
(C) AHUAUS (D) HRULAUAIUS

Which of the following gives the value of free fatty acids present in

fat
(A) lodine value (B) Acid value
(C) Saponification value (D) Peroxide value

Adjective form of ‘Move’.
(A) Movable _ (B) Moveabel
(C) Moveble (D) Movement

What is freezing point of milk?
(A) 0 °C . (B) — 0.55 °C
(CH— 1 3C (D) — 1.55 °C

When do we say that food is adulterated under Food Safety and Standards
Act?

(A) If it is obtained from a diseased animal

(B) If spices are sold without their essence

(C) If any ingredient is injurious to health

(D) All of the mentioned

FSO-C | | [14] [ Contd...



ARIA Aseaetl Yueprioflall [Rovuous 3uslldl Asr arL % el 21194
BEUA 2017-18 wead Algu Wdl A Bl wd wdlddd Grlov+

093.

vl 3l yFaRE aaad widovd sl 2udd?
(A) 2005 sM yFaRiE B) Alu sh ylaalkidl
(©) slaor s yMaRE (D) oeilzs s YRl

Who announced the launch of Rashtriya Krishi Vikas Yojana?
(A) Narendra Modi (B) Dr. Manmohan Singh
(C) Atal Bihari Vajpayee (D) LK. Guyjral

o, 5. 6R doridl el Anan g Al w47
(A) QosR (B) a4l
(C) MUIsRL (D) #lasdl

Which of the following possesses lophotrichous flagella?
(A) Pseudomonas sp. (B) Spirillum sp.
(C) Azotobacter sp. (D) Escherichia coli

Temperature used in UHT treatment is
(A) 90-100 °C (B) 100-120 °C
(C) 120-125 °C (D) 130-140 °C

A4 [@tuedl opil:

1. oud dlsl i uAddl H{lBawi Nas B ok €l W 8.
2. WH YUMAdl €35 utud HlBadl ogel dllu wisadl ozl «dl.
3. iy Addl WPl drlv, e vid 3wy Wi sl K.
4, wn wAadl dBad wvitad U dadl-su-dHAl deud 9
GurAridl s [Qeudl i 87

(A) 1, 4 (B) 2, 4

1, 3 (D) 3, 4



098. Variable number of tandem repeats (VNTRs) in the DNA molecule are
highly useful in

(A) Monoclonal antibody production
(B) DNA fingerprinting

(C) Recombinant DNA technology
(D) Stem cell culture

099. 3 wulal 2180 21 daqdl Hovol oSlsadi ARM ocadesdl AeRledl
Yedidl A0l Joall am? 2ilal ieRld Yed dudl el s vl
Mg A 22Q 3, Gerewl afl A4 qEAUT ¥ A A4 H™
M=1LK=21=433d 85 yell aw.
MKKIDNETTQOBFHAAGTUUXWLSRI
(A) 33 (B) 32
(C) 30 (D) 35

100. Bulk transport across cell membrane is accomplished by
(A) Phagocytosis (B) Pinocytosis
(C) Extrusion (D) All of the above

101. HEPA filters are used in
(A) Laminar Air Flow hoods (B) Seitz filter
(C) Incubators (D) Hot air oven

102. Starch is split by which enzyme?

(A) Lactase (B) Distase
(C) Phosphatase (D) Catalse

103. A iU asudl sdRuddAl wRl [@sew .
wRIAdlAL Ml R ovar]
(A) 2HUAdldl NUA 27 ore) Q&L
(B) »iMzldcldl MR U4 @) ordl
(C) »uadl4l uaud 23 o
(D) wMuddldl nuA >R yon 5309

FSO-C | [16]
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104. How is milk pasteurized?
(A) Low temperature, Long time (B) High temperature, Short time
(C) Ultrahigh temperature (D) All of the mentioned

105. Select a single word for,
‘A person chosen to judge and decide a disputed issue.’
(A) Plaintiff (B) Arbitrator
(C) Invigilator (D) Conspirator

106. In cloning of cattle a fertilized egg is taken out of the mother’s womb

and

(A) in the eight cell stage the individual cells are separated under
electrical field for further development in culture media.

(B) the egg is divided into 4 pairs of cells which are implanted into
the other cows.

(C) in the eight cell stage, cells are separated and cultured until small
embryos are formed which are implanted into the womb of other
COWS. '

(D) from this up to eight identical twins can be produced

107. Biolistics (gene-gun) is suitable for
(A) Constructing recombinant DNA by joining with vectors
(B) Transformation of plant cells
(C) Disarming pathogen vectors
(D) DNA finger printing

108, cSUAdHA S oAy B7?
(A) 1A WIS Vid HH HAY (B) HEd WIASY bid WA HIAY

(C) 1A WA Vil UM WY (D) dotHad v SAS 6wy

109. Normal bovine milk contains protein about
(A) 7.5% (B) 5.5%
(C) 3.5% (D) 9.5%
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110. A 2084 Wel quud Medi dlow Wedlovsd Rseunisl Aal.
R olidla. Rull odla.

(A) 2yq (B) @i
(©) dl (D) i
111. By chemical means, hydrogen can be added to an oil to saturate its
fatty acids, thereby converting it to a solid, this process is called
(A) Lipid Fractionation (B) Hydration
(C) Chemical refining (D) Hydrogenation

112. Difference of Green tea from Black tea is that —
(A) The oxidation process is omitted

(B) The tea leaves are steamed in a pan before being rolled so that
the enzymes don’t interact with air and oxidize.
(C) Both of the mentioned

(D) None of the mentioned

13, ouarlldR digsl AoRId Usel sl Breani wida 97
(A) flele (B) WSl

(C) 2Raedl (D) udlaer

114. The power house of the cell is

(A) Nucleus (B) Cell membrane
(C) Mitochondria (D) Lysosomes

115, AR U uRANA ABfAL 21048 501 o D?
(A) dAlgst Qs 2~lfsd) (B) WHAAER
(C) aal (D) AN

116. Which of the following tests do coffee beans have to undergo?
(A) Visual test (B) Aroma test

(C) Testing by a cupper (D) All of the mentioned

FSO-C| [18] [ Contd...



117.

118.

119.

120.

121.

122.

thlch one of the following palindromic base sequences in DNA can be
easily cut at about the middle by some particular restriction enzyme?
(A) 5" CACGTA 3’, 3° CTCAGT 5’
(B) 5’ CGTTCG 3°, 3* ATGGTA 5’
(C) 5’ GATATG 3’, 3° CTACTA 5°
(D) 5’ GAATTC 3’, 3’ CTTAAG 5’

“Olfld ue ghgei darll Ad s ol drdelia g et 97
vidl GeQu RAR 5@ A ovgudl.

(A) N¥i-ie (B) vl

©) ki (D) E4RIH

The Queen of Spices IS ...cccvvrrrerereenanes
(A) Cardamom (B) Pepper
(C) Ginger (D) Chilly

Find the sentence with correct use of the underlined word from the
following:

(A) While going to the lake, the elephants crushed the rabbits.

(B) The bus crushing the beggars at Lal Darwaja yesterday.

(C) The tinymen were crush by the giant in the middle of the sea.
(D) The car would crushed the toy.

Lactose has water solubility of
(A) 100% (B) 50%
(C) 18% (D) 25%

An improved variety of transgenic basmati rice

(A) Gives high yield and is rich in vitamin A

(B) Does not require chemical fertilizers and growth hormones.

(C) Give high yield but has no characteristic aroma

(D) Is completely resistant to all insect pests and diseases of paddy

E<SOC | [19] | P.T.O.



123. ReRdAl wnll s 4@l 2iavy 87

124.

125.

126.

127,

128.

129.

(A) mq}u'hru (B) A2l
(C) cwilau (D) ardllsi

Which of the following food constituents are fermented first by the
bacteria.

(A) protein (B) sugars
(C) fat (D) minerals

A orQuda uoedl wd (Aoe-uusydl) caldl.

‘onusr-l’

(A) Hell™Q-dl (B) WRWR

(C) lalan (D) wsgla

The fatty acid with shortest chain length, found in nature.
(A) Palmitic acid (B) Ricinoleic acid
(C) Butyric acid (D) Erucic acid

The digestive enzymes of cellular compounds are confined to
(A) Lysosomes (B) Ribosomes
(C) Peroxisomes (D) Polysomes

dldetimizll s well well duer ordfld ot wr dl W 87
(A) @- (B) il
(C) sl (D) AdIASR

Which of the following products doesn't involve mixing operations in
the food industry?

(A) Ice cream (B) Confectionery product

(C) Packaged drinking water (D) dry spice mix

FSO-C | [20] [ Contd...



130. -lA suldd odssi wiow Ad sl

(@) |udsizsiv (1) |2ued cicioy

(b) |28 Aforq (2) |awyma HE

(©) | s:uyez () |3 dl2
| (d) |2l (4) |Rs, oredded
(A) d-1, c-2, b-3, a-4 (B) a-1, c-2, d-4, b-3
(C) b-3, d-2, a4, c-1 (D) c-2, a-1, b-4, d-3

131. Which one of the following is not fermented beverages?
(A) Kefir (B) Leban
(C) Buttermilk (D) Kaumiss

132. The principle of adding salt to meat to preserve is called ............
(A) Pickling (B) Curing
(C) Both (A) and (B) (D) Neither of the mentioned

133, <Aldqawmidl wwud s oasi w97
(A) 2UAPHA-G& (B) uddlar-(gy
(C) wRAUH-5HURY (D) dleuuildi-eigdlle

134. Which sector is the backbone of Indian economy?
(A) Service Sector (B) Financial Sector
(C) Tourism Sector - (D) Agriculture Sector

135. Find the nearest meaning of ‘Devour’
(A) Came off (B) Eat greedily
(C) All types (D) Eat crowdly

136. Which of the following is untrue?
(A) Basmati rice has gained international recognition
(B) Wine industry is gaining support in India, especially the Maharashtra.
(C) Dairy industry of India is the largest in the world.
(D) None of the mentioned.



137. Evaporated milk is concentrated to approximately what times the solid

of normal whole milk?
(A) 2.25 times (B) 6.25 times
(C) 7 times (D) 8.5 times

138. A e [@seyini sl aoe wwendll «dl oyl

(A) A™ (B) Alsciot
(C) s (D) euwl

139. Since ancient times, people near Lake Chad in Africa used which of
the following as food.
(A) Anaebana sp. (B) Bacillus sp.
(C) Spirulina sp. (D) Saccharomyces sp.

140. Feminine gender of ‘Bachelor’ is

(A) student (B) married
(C) spinster (D) girl

141.  Which of the following comes under the grain processing in India?
(A) Oil seed processing (B) Wheat‘ processing
(C) Both of the mentioned (D) None of the mentioned

142. When did the Government present Kisan Credit Card Scheme?
(A) April 1993 (B) August 1998

C) July 1991 (D) November 1995
h 4

143. MS Word i 324l UsRel Siyie vildlviedad Guaoy 97

(A) 2 (B) 3
(C) 4 _ (D) 5
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144.  Sterilization of tissue culture medium is done by
(A) mixing the medium with antifungal agents
(B) filtering the medium through fine sieve
(C) autoclaving of medium at 120°C for 15 min

(D) keeping the medium at - 20°C

145, ARASR RN UGAL UUH oA AAS A orQuAl.
(A) alst oflon Segadmy (B) urnail
(C) sl Uil (D) 842 AH AU

146. Food Authenticity means .............cccocceeuen
(A) The food should match the descnptmn
(B) The food should taste good
(C) It should be cheap
(D) None of the mentioned

147. Genetic information of nuclear DNA is transmitted to the site of protein

synthesis by
(A) rRNA (B) mRNA
(C) tRNA (D) Polysomes

148. 10 ubaxil 25 ofln Wl edydd R ©.

"~ NI = i
(A) 50 - (B) 45
(C) 55 | (D) 32

149. Which of the following are Milk Processing Operations?

(A) Clarification (B) Pasteurization
(C) Homogenization (D) All of the mentioned

150. MS Word i 15" August Hi th 4 58 2R Ml 2044 97

(A) Superscript (B) Subscript
(C) Upperscript (D) Lowerscript





